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M FIMETA
M DN ZHSE2H (M=K ZESEF)
tHel: dA=2=20 N (AZSAHIISSESA) (el =3
_ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K @ﬁOH Hlw &2
=LIPN Nk 1,809,060 1,635,500 173,560
2 262,814
== 82,703
Al 1,463,543
S0 ZHESZ (M SX/INZHESE) 1,619,379 1,582,924 36,455
= 218,269
== 71,567
Al 1,329,543
B30 N (AZSWIISSL3IH) 1,619,379 1,582,924 36,455
2 218,269
= 71,567
Al 1,329,543
o220 H330iHS N 272,836 278,653 A5,817
2 218,269
= 54,567
307 2I2+0IA 272,836 264,889 7,947
2 218,269
= 54,567
01 S22+l 272,836 264,889 7,947
Ok E=3=10: 1] 272,836,000 272,836
2 218,269
= 54,567
oZ20 #HIH| 17,000 16,000 1,000
= 17,000
201 LEH2HH| 8,500 8,000 500
= 8,500
01 AtS22lHl 8,500 8,000 500
09230 #FHI 8,500,000 8,500
== 8,500
202 Odtl 8,500 8,000 500
== 8,500
01 2LHoidl 8,500 8,000 500
0o=220 #FHI 8,500,000&! 8,500
== 8,500
2SN 1,329,543 1,288,271 41,272
308 XiXIEHHISOIA 1,329,543 1,288,271 41,272
05 MXIEHARES 1,329,543 1,288,271 41,272
OSAZESABH|I AIHIRYS  1,329,543,0002 1,329,543
WeRes(FUUSXA) (MASX/DI=882E) 134,000 13,900 120,100
ERXE(ABS0II2SL3H) 134,000 13,900 120,100
SN E 134,000 13,900 120, 100
802 EHE 2 IIE} 134,000 13,900 120,100
01 FNEXZEtEZ 89,600 2,000 87,600
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HM: HRES(FUMESI ) (ASEXN /I ZMESH)
SR EMXES(AZSHIISELIH) (3
= - bolEN=
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao @;OH Hl =2
0O=21N8xXZ vtaz 89,600,000 89,600
02 Al - SHIEZZ2Uta2 22,400 1,000 21,400
OZHIBX2 a2 22,400,000 22,400
03 AL=2S 22,000 10,900 11,100
OO0 Rt BHt 2,000,000& 2,000
02230 RH0IS &2 gy
12,000,000 12,000
OWEHESH AL syt 8,000,000 8,000
HESAAH| (=M XA (IIEH/IIE) 55,681 38,676 17,005
= 44,545
[= 11,136
QIESAH|(YZSHII2ELFH) 55,681 38,676 17,005
= 44,545
[= 11,136
ol [BX] 55,681 38,676 17,005
= 44,545
[= 11,136
101 @14 55,681 38,676 17,005
= 44,545
[= 11,136
03 RIHA2ZXE S 55,681 38,676 17,005
092 SHLES X AelAtY 55,681,000 55,681
= 44,545
[= 11,136




